
  １

             

      











  

     

２

  

い T . i n . i - . - に
は 1 - . F . I T / = 2 f い AT.が . . I

!

HAT)cos60°

c o s t s - . - i 0 等 で主
（2 T. a t：0

!

ATO ' .でも t である。5 0 選 T . P T= 1が川が1cos120°

で I T . . 、 4 2
= 一二

IT1=3T.IT/=Fv-
cos0=4iT..-l-
0=1fo0_t



  ３

      

         

          ４



                  ５

    

           ６

  


